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Central Banks in the Financial System



Federal Reserve System:
Organizationg
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Federal Reserve System:
Regional DistributionRegional Distribution



Comparing Organizational Structure
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Taylor Rules

P iti t t t? I thi h t l b k• Positive statement? Is this how central banks 
behave?

• Or normative statement? Is this how central banks• Or normative statement? Is this how central banks 
should behave?



Source: St. Louis Fed, Monetary Trends. October 2012 



FRB St. Louis Interpretation 
f th T l R lof the Taylor Rule



FRB SF Interpretation 
f h l lof the Taylor Rule



“Your Name Here” Interpretation 
of the Taylor Ruleof the Taylor Rule



Issues (within the framework)
• Which activity variable (output, 
unemployment)?unemployment)?

• Which inflation measure (CPI, PCE deflator, or 
h hrespective core measures; 12 month, 3 month, 

etc.)

• What is the “natural” rate of real interest rate?

• Should it be forecasted output and inflation p
that matters?

• How to deal with data revisions?How to deal with data revisions?



Using Forecasted Values of y, π

Source:  Orphanides and Wieland (2007)



The Impact of Data Revisions

Source: Molodtsova, et al. (JME 2008). 
http://www.uh.edu/class/economics/news‐research/working‐papers/docs/2007‐03.pdf



Revisions in 2001‐03
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Taylor Rules and Inflation Targeting

Q ti f i t t ti Wh d th t t• Question of interpretation: Why does the output 
gap enter? Is it determinant of future inflation (via 
Phillips Curve)? If so Taylor rule is (possibly)Phillips Curve)? If so, Taylor rule is (possibly) 
inflation targeting.

• More explicit: Set β=0, δ=1.More explicit: Set β 0, δ 1. 


